\Veckos

LinEQAR COMBIaaTION >
Xo 15 cAuED A LIV CoMB  OF X, .. Xa IF THERE Oct. AL{(6
Exist SCALARS oo C, o, Ch Qucy THAT

Xo = C,x, ~...*+ Cuden

Parricutpe
'uﬁcmn..
| Determine whether Xeo = (o’l, -15, 3 s a lin. comb.
of vectars x, = (1,-3,-4) X, = (3,-54)
Xa €. XK, % €CaXa =+ Vecilst e.zua-t-:oc\_

cg;‘é;.s):ct(lq‘gn‘l) * Cg Caf—s'q)
(2, -6.3) =(c, + 3¢, i) “C, «(-5)c, ~C, +HCa)

A = '3 |2\ R R 2R, 13 | %2 Bye -7Re + Ry
-2 -5 | -6 ——ab | 01 |-g |—v— ...
*% 3 p\.‘;' 3\1‘&'[13 O / S
t 3 i
o | -
O O | IBUY —p sy¢steM 15 1NCOMSIS TEWT,
Ecutiow Fo@m &c, « Wc, = |9

S5e X, 15 wetrT A LiNEAG
CoMpimaTIar~ OF X, ,

(C.‘CQ‘ does  nat exist)
4. Determine whether X, s (-7, 7 1) s o Gn. comb.
of Vectors x, = (1,2,1) ,  Xa * (~H, -8, F)
xfb z (.'.59.'3)

Xo = €%, +CuaXas +Cyxy

€. Qe Cs
QA - U -4 =3 -7
a2 . l 7 | — cedoce o
l A i . t ~ echeloa Foren
| -4 -3 | -7
Cs 5 o Cug vornapie [ e 1 1 |3
CavCy =23 —C, = 3-C, © @ @ @

C.-‘éC; s 7 C. "’L‘Ci_*scs



@ De{-ermzne whether "
OF vectors Pormed From  +he Columps

(D Wurite  4the ueekar cgoation.  thaot

the Lineas  sgstem

Ux, + X, * 3xq =9
| X, = 72, = dry = 2
88X, + £x, - sxs = 1§
Rx = &

4 | 3 x

I <7 -a Xs .

g & -5 X 1)

Citey ¥ oy # Cxlty = Xa

I‘ 4 xz ! ‘x3 3
' + .,? + _2 I~
8 6 -8

s eZUiUQ\eQ+ ‘o

Standard
Form,

Mot x
form

I -4 2
A = o & 5 Ks = €3, & Cax i, + Caley
2 8 -4
X, X, X4 e ‘ Ra(n.-a)

e 3 s 4
A 8 -y 3

C'.ca, Cy does not+ exssi,

_—

Xo 5 poed a Linear Combination ot .,

¢

('-'_,,-?,-5) S O & in, Comb.
of +the Matr: x

] -4 2
© 35
O o o
D, JC,.

s

3

<5



GO
(® The Ssobspoce W From A™ . The set g = {x,/ e, Xe R
lhere X, ‘O-e.\cm.ﬁg o o
The set S Spons (o TE every Vector Crom

o Con Dbe expressed &8 & (iq, Comb. of

X & T % ... *CuXa
d_rh‘.i-rars

vecdar “L) % Sen,e\-a.#‘ed bﬁ s

S .-V{x", ,- Jcﬂ_‘k S o- s;panmn& sed qu i3
Lo = Spu!\. {x, PO Y. L x"‘i

Does the set S« £01,2), (1,13 span R

£x, NY) = < (¢, 2_) = gl =1, Iy - Vector Form of a lincar
, System,
s C, “Ce - =
x . ~< S c, -c, 3>
5 =1C. +C1 Qc| - Cy = 3 o gc_a‘ = S'gsr- )
B , _ , & Ca =z Y -aAx
A =(1 -1 { x \ Ry -ar, /L - x ) 3
L S /7 (0 3 |4-2x € Sy » X
) § S ) i <, = X -'C,l
G y) z(}:_!f‘) (ha)y « /8-3e N\t 1) |, > xey
: > k- l 3

X4+ gnd D A2 e demped  For ata Xa &
> _ -3

Thns h’\ecms -4-“:‘.;\- C,. , Cte-“‘--s*’ -Fe:_r ah‘a x' &
& Tha % il S  spass R



>

@ DGei -\-\\e, SeA S = {(l,ﬂ,?;) i C-',O")' (olf.fa) } SPG.T\ p}a?

X, X a X
X =&, *CiX, +C3)X,
L5, &, 8)
B = - @ | x Pl @ x
2 @ | s [ [ @ & 1 / 9 -2
3 1 & z © o @ 2-25->¢
;?
So does S SPan [T 2 No, Zz - QB‘JC=C4
)

onbY,——
(T meant +hal +he

Selution OF dhe
Sgstem exsts  for
x)$u <

@ Show  that 5‘{fl,l,@),(',w,f)g spans the
50bspace o R? o = {(K.S,ZSS"XH‘VZS,

2E
(5’1, g, 2) = C 04, 1 6) v, (:ct) ‘ w
OocChittary Veckor +aue.h Frtom R3
' { tz { &-}z_
N = {0
o
(a+2, o, 2) = alt,,0) ~ 2("o, )
twhere e and 2. are 0—!\3 real fombers .
}CA=Z (Ct ”3 <, ¢CL:5*Z'—QC,‘&+Q'C;
:%1’2 ‘Z=LS

The Set+ 8 spars (U,



